000

5.83

0./5

3.60

5

ol L A L B B B 40T~ T T T T T T T T T T 10 i T L B
AHHHH I i F 1 ,
AL s AUSOONERY - . ]
i [ ] 8 |
0 K RRI0B 6.6 6 20 W@ [ ] 1
S L @g; ><>Q < [ ]
g : 88828 00neBHTET, i 1 ]
€ ! . o C N 4
— 1 T L ] —
« S 1 5 f ] 16 7
: 1o é ]
or 1 [ ] |
1 3 1 .
150 ] 7 7 i
o) E N N B S B R B ] 2 . L P R B
0.0 0.2 0.4 0.6 0.8 1.0 0.5 1.0 1.5 2.0 2.5 3.0 10 15 20 25
_ phase ¢y H-K V—K
; T T T T T T
N
o
=
:
2
E" L
Q
£
=
0
o
2
£
= X X X X X X =
1.0 ‘ ‘ ‘ ‘ ‘ ‘ -
8 os— —]
S - =
T os— —
.9 [ .
8 04— .
] C ST
§ 02— ’}’K/ﬁi
OvO: . L L L L L =
9} 50 100 150 200 250 300
time [yr]
g ] sx10F ‘ ; —
L % g o doss 5 g st ]
-84 .y o d = s 6x107° ]
Foe o eg 12 i 1 Tu 3000 K
= A 1 s [ ]
E—a,zf 2ele g 4 2 4x107° B \g L 3.85 LQ
» oimei 18 I 1 Mass 0.75 Mg
TR 14 5[ |
8o ¥ o Bl e 7 Ig(C-0) 8.80
i ] f { C/0 2.38
-7.8 L L L L L L L L L L o= =
Cr—————————— —_— = =
E ) ] 40 ] Ay, 4 km/s
L e s 13 : ER: 1f 1.0
Eoe 2 e g j 1 7 w0k ERERE
-58 ‘o og ' o ' | ~ £ Ei
— b e %y ! 1 £ 1 class wn
g -56p 5 "lg %o o : ERN E
£ For2ar B2, ‘ ] T 20F E
e T : ERN B i Mdot 2.59 + 1.65 -107° Mg/yr
—s2F 1B s ! E g 1oF ERETR 26.30 + 2.20 km/s
E ! ! E o . 0.228 + 0.043
N 3 1 E 1 pa/pg 12.82 107
-4.8 PSR P E = Period 390. d = 1.068 yr
°F e W Tisos Te % ] 08 7 Rodius  318. R
E g oo Gy 13 ] s 1 logg -0.69
TEoe e E 1 MMy 0.500
b e oy A ]
gzi R E 8 o4l 1 Colour mean / min / max / range
£ 2f ‘ E - 1 (B-v) 2.87 259 327 0.68
> f ER 4 (v-l) 387 341 460 1.19
E ER-2 1 (V-K) 9.37 830 11.08 2.78
3F E g 02 ] J—H 1.52  1.35 1.75 0.39
E E i 1 (J-K) 268 243 3.04 0.6]
F E [ 1 (H-K) 1.6 1.05 129 0.25
4B . . . k| 0.0t . . i
313 316 326 330 315 325 330

time [yr]

time [yr]



Note: Time increases downwards. Scales OK for last curve (bottom black)
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